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M & H =
=2 at 2Xt =4 33Xt =4 S = El 2Xt =4 3xt =4 S

Atgiel Al 19,460 19,460 - | Atz o1214| 196,978 201,253
BEZ4O BEIA 603,287 610,562 7,275 | ALl SEESS 2,000 2,090
=234 sa340 64,360 65,780 1,420 | ALt o] 7,0% 6,837
melz mejz 0,000 10,000 - | etz Al 1,750 2,161
NEE NEE! 6,283 6,083 ~ | Attt At 77,463 81,671
maol maol 74 74 - | Attt A2l ArRL] 107,304 107,304
NP B2 DS AR 148,528 148,528

Aritl Sog =N 39,344 39,344

Al oy el 3,813 3,813

Ari| e 20,000 20,000

ArH| SSqEEEe 70,062 70,062

olbibl 2 JIEF |oibIl 2 JIEr 6 6

Mg & 703,464 712,159 8,695 NES=p] 703,464 712,159

A2 ST & ASIFXAIE WA #& H10E 48, HM19E 28 #E0l 2AH AZ=SXAIE S4XRAC2XNJHES 3xt FIHFEE 31
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